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7. REHESF(x)TEQ, +oo) LERENT, WTHBFRHRNE( ).
FiEEL (10 72)

Awlim f(x) = Om, & lim f'(x) =0
x—0+ x—=0+

OBy lim f'(x)&Es, &5 lim f/(x)=0
x—+o00

x—+00

Cw lim f(x)=0s, &% lim f'(x)=0
x—+00 X—+o0

Dy lim f'(x)#eEn, 24 lim f'(x) =0
x—0+ X0

2
In(1 + sin x) — (x — %)

ll_l;l’(l) x3 =C

BEET (10 43)

OA_l O B.! gE 1 ®D.1
3 6

wi
=)

9. BAf(x) = x* +ax? + bx 7 x = | AEEURIME -2, W TREIMNE ().
%3 (10 43)

A.a=0. O B.a=-1. C.b=-3. O D.b=1.

10. TRBRARHIZNZ )
Z3ERE (10 4)

O A &fx) ERXR 1 E—BOESE, W r0EILFR.
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x—=0 X

oD
ﬁ&lﬁhm &mz £ (0)#52E

4, RAMTHERTNMSEr = 20750 = % LmbIEAEREA () .
BERT (10 43)

O A-r—x:Z(ﬂ—%);

@B __ 2
y=
T
O C-y=—;x+7r;

O D.FHEE

5. & f(x) E xo &R, M |F(x)| Exokb@r( ).
AR (10 9)

O A FEL, O B.FA% O C.7%. ® D.3E8

B 3B fo0tEx = 1A, Blim f(") 2_1muf(1)—( ).
S (104)

O A1 O B.2 ® C.2e O D.e

7. BB S()EQ, +oo) EERAFS, WTIFRAHRNZ( ).
SR (10 93)

Awlim f(x) = 0m, &5 lim f'(x) =
x—0+ x—0+
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1. REE f(x) EREES, BHES(0) > 0, WHEE S > 0 $£45( ).
BRI (10 43)

O Avxe (=50, F f(x)> f(0).

O B. f()TEQ, HPIRIFHEM;

® C.vxe0.6,% f(x)> [0

O D. f(x)TE(-5, )RR,

2. 1® f(x) ERLETE, $F(x)= f(x)(1+|sinx|).HFF(x)ZEx=047%F, W&z ( ).
BIERT (10 43)

® A f=0.

O B.fO - s =0.

O c.rlo=o.

O D.roy+ '@ =0.

3. IREES(x)TEx = OAESE, MTHGHPHEIRMNE ( ).
HEM (10 43)

O A
smmlim @m{. MAM =0
x=0 X

® s .
’ #Rmlim 71-(){) +xf( X)

x—=0

& 1 (0)esx

i Jx) + f(=x)
X

“s=pmlim #%& Mf0) =0

x—=0



@00 @ zuwk x + %

< - C @ courses.zju.edu.cnfexam/30960/subjects#/take mC *n

G
ped

2021-222FFNZ.... Faatia: 02:11 ARISHAT: 10/10

D-w lim f/(x)z#n, &4 lim f/(x) =0
x—=0+ x—=0+

2
& Il +sinx) - (x - "7)
chl_% x3 =t )
BAYERA (10 43)
O Al O B.1 O c._1 @ D.!
3 3 6’ 3
9. B f(x) =x3+ax?+ bx ¥ x = 1 LEEME -2, WFREIINE ().
Z3E/L (10 43)
A.a=0. O B.a=-1. C.b=-3. O D.b=1.

10. TREEREBIRNZ Vs
3% (10 43)

O A &Hrx) ERE 71 E—BeESE, W roEIEFR.

B. & f €RAIAES, B f1E xo CEURIME, W 35> 0, 518 1 1 U_(x0. HPIRERE, 1E Unx0 )R

C. HEMW £, g TR\ 7 E—BOES, N 7. g EXE 1 EB—BOEE.

O D.% s ERA LTFEARNSRE, W f1E 1 LG8



